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A – PHẦN TRẮC NGHIỆM (9 điểm) 

BẢNG TRẢ LỜI - ĐỀ 1 

Câu hỏi Trả lời Câu hỏi Trả lời 

(1) 0,46 (10) 0,7863 

(2) (0,6340; 10,6048; -2,9507) (11) 0,23 

(3) 0,80 (12) 2,34 

(4) (0,6185; 10,6546; -2,9968)  (13) 1,7581 

(5) 0,79 (14) 2,2*10-4 

(6) 0,7462 (15) 4,56 

(7) 1,4142 (16) 8,5*10-6 

(8) 0,7773 (17) 2,2095 

(9) 1,2313 (18) 2,5635 

BẢNG TRẢ LỜI - ĐỀ 2 

Câu hỏi Trả lời Câu hỏi Trả lời 

(1) 0,44 (10) 0,0227 

(2) (1,2096; -5,5827; 2,9770) (11) 0,36 

(3) 0,84 (12) 0,21 

(4) (1,1958; -5,5111; 3,0318) (13) 0,8603 

(5) 0,72 (14) 8,7*10-5 

(6) 0,0745 (15) 2,3093 

(7) -0,8862 (16) 5,3*10-6 

(8) 0,0245 (17) 2,0443 

(9) -0,6066 (18) 0,9568 



B– PHẦN TỰ LUẬN (1 điểm) 
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